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1. Please correctly filli your Roll Number in O.M.R. Sheet. Candidate will themself be responsible for filling wrong Roll No.

2. At the start of the examination before attempting the question paper kindly check your test booklet and OMR Answer Sheet
and ensure that :

*  The serial numbers of test booklet and OMR answer sheet are same.

* All pages of test booklet and OMR answer sheet are properly printed. All questions from S.No. 1 to last S.No. 150 are
printed and pages from S.No. 1 to last S. No. 24 are there in the question booklet. ;

In case of any discrepancy / defect the candidate should immediately report the matter to the invigilator for replacement of

test booklet and OMR answer sheet. No claim / objection in this regard will be entertained after five minutes of start of

examination. Candidate will be liable for it.

3. Answer all questions.

4. All questions carry equal marks.

5. Only one answer is to be given for each question.

6. If more than one answers are marked, it would be treated as wrong answer.

7. Each question has,'t‘qur alternative responses marked serially as (A), (B), (C), (D). You have to darken only one circle or
bubble indicating-the correct answer on the Answer Sheet using BLUE BALL POINT PEN.

8. 1/3 part of the mark(s) of each question will be deducted for each wrong answer. (A wrong answer means an incorrect
answer or more than one answers for any question).

9. Use of Mobile Phone/Bluetooth Devices or any other electronic gadget in the examination hall is strictly prohibited. If any
such prohibited material found with any candidate, strict action will be taken against him/her as per rule.

10. If there is any sort of ambiguity/mistake either of printing or factual nature'in Hindi and English Version of the question,
the English Version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized material is found in his/her possession, F.I.R. would be

lodged against him/her in the Police Station and he/she would liable to be prosecuted under Section 3 of the State Prevention

of Unfair means Act, 1992 and Board Regulations. Board may also debar him/her permanently from all future examination

of the Board. .
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- The district getting benefitted by the Mahi
Project is -
(A) Kota (B) Bundi
(C) Banswara (D) Jhalawar
& qREe § wed B A e € -
(A) @ ®)
(C) sigaret (D) W

2 Which of the following is not a Rabi crop in

~ Rajasthan?
" . (A) Wheat (B) Gram
(C) Barley (D) Bajra
T ¥ e § § 39 @ & A wEw 6 6 7
(A) (B) =
(C) =t D) s

3  National Mustard Research Centre is located
at -
(A) Sewar (Bharatpur)
(B) Degana (Nagour)
(C) Walda (Sirohi)
(D) Dhandh (Jaipur)
T TTE ITEE B FERyd & —
(A) FT (V@) H
(B) =T (AFIR) ®
(C) = (fawEn) o
(D) ¥ (ER) F

4  As.per the Animal Census 2019, the district
: having highest number of buffaloes in
Rajasthan, is -

(A) Alwar (B) Jaipur

(C) Bharatpur (D) Dhaulpur

UgIE AT 2019 % SFER TS ¥ Haitas
¥ @ Fe g e ® -

(A) s (B) AR

(C) W@y (D) gt

5  Which one of the followings is not a fresh
(sweet) water lake?

(A) Pichola (B) Pushkar

(C) Ana Sagar (D) Talchhapar
W= ¥ ¥ e o ua A1 U @ e wE 27
(&) T (B) g=t

(O smEw (D) dEBET

232 &

In which of the following agro-climatic
region Bajra is sown?

(A) Humid south-eastern plain

(B) Humid southern plain

(C) Sub humid southern plain

(D) Semi arid eastern plain

Rrfeies ¥ ¥ 9 ¥ BN Jeag Ry 90
T T &7

(A) o RN AT

(B) o <R AW

(C) Sue TRF AN

(D) - T AW

The smallest Agro-climatic region in
Rajasthan is :

(A) Arid western plain

(B) Humid southern plain

(C) Semi arid eastern plain

(D) Humid south-eastern plain

T ¥ 999 Bl B-wearg yey ¥
(A) g=s ufvedt f.E

(B) o IRl F_H

(C) sy i A «

D) o Rr-gd Aaw

Which one of the followmg rivers is not an
inland river?

(A) Lik (B) Mendha

(C) Wakel (D) Khandel

frifeea Afedl & ¥ & @ o YA T8
& E?
(A) Tam
(C) =me

(B) #Her
(D) @vd

The largest Agro-climatic zone in Rajasthan
is -

(A) IA - Arid western plain

(B) IC - Hyper arid partial irrigated zone
(C) IIA - Internal drainage dry zone

(D) IV A - Sub-humid southern plain
TSI & gad 981 ey yaer & -
(A) IA - 5w afiedit fram

(B) IC - afa sy erifyre fifea ér

(©) A - oriafis st Freret gy @

(D) IV A - 3u-orid efavly fgm

10 Which one of the following rivers drains in

11

12

13

to Sambhar lake?

(A) Chambal (B) Ahu

(C) Berach (D) Mendha

P & & @ @ & g e F P 7
(A) W . (B) g

©) == (D) e

Which of the following rivers flows through
Jaipur district?

(A) Som B) Jojri

(C) Banganga (D) Kalisindh

7 % § B & T Tag e ¥ St yarfed
B B 7

(A) |

(C) smrim

(B) S
(D) et

Which of the following districts of Rajasthan
does not share border with Pakistan?

(A) Sri Ganganagar

(B) Jodhpur

(C) Jaisalmer

(D) Barmer

T A T e § e @( fopgant |
TIRET | TE T ?

(A) FFTR

(B) Siugx

(C) Sgeax

- (D) TEH

Which of the following pairs is not correctly
matched?

Wildlife Sanctuary District
(A) Shergarh —  Sirohi
(B) Tal Chhapar —  Churu
(C) Ram Sagar —  Dholpur
(D) Sajjangarh —  Udaipur
faffed g & ¥ B9 W w€ gAfea T8 ¥ ?
TN AR o
(A) e - fod
(B) dm BIMY =, S
(C) THEIT SR LS
(D) §ITE = RN
232 &

14 Aagucha-Gulabpura mining area is situated

15

16

17

in which of the following district?
(A) Bhilwara

(B) Jaipur

(C) Ajmer

(D) Alwar

AFE-TAEYT @ & Frefafad & & few
forer & feo %7

(A) et

(B) sEgT

(C) T

(D) T

Which of the following district of Rajasthan
is famous for production of mica?

(A) Dausa (B) Chittorgarh

(C) Bhilwara (D) Bundi

TSR @1 i ¥ & &9 | ﬁﬁn qIH &
SEeA & fow ufes %2

(A) (B) fudeme

(C) st @) &

Which among the following mountain peaks
according to their heights in descending order
is correct?

(A) Achalgarh, Jarga, Delwara & Ser

(B) Ser, Delwara, Jarga & Achalgarh

(C) Delwara, Jarga, Ser & Achalgarh

(D) Jarga, Ser, Delwara & Achalgarh
Frifha ¥ § B 8 vda qifear sl Has &
AU B9 F T ¥?

(A) IEETE, ST, S6EST 9 T

(B) §X, I0CIST, 9ION 9 SETTS

(C) IarST, WTW, X T TS

(D) WM, WX, IHART T TS

Which of the following rivers has its entire
course confined to Rajasthan?

(A) Banas (B) Chambal

(C) Luni (D) Mahi

e & e B A B S T HaTe TS
¥ & A &2
(A) ™

(©) wh

(B) =«
(D) 5@

n!“_. ! h:
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Rawatbhata Atomic Power Plant is located
in which of the following district?

(A) Kota (B) Jhalawar

(C) Banswara (D) Chittorgarh
AT Sfvae St waw e ¥ ¥ e R &

(A) @I
(C). stgaret

(B) swEs
(D) fieE
Aridisols are found in climatic
regions of Rajasthan.

(A) Humid

(B) Semi-Arid

(C) Ard

(D) Semi-Humid :

TR A & wwdg o
Tt %1

(A) o

(B) ord-g=

©) g%

(D) Su-—am

Red loam soil in Rajasthan is found in :
(A) Sirohi (B) Pali

(C) Udaipur (D) Jalore

TR & W @9 Ja1 9El Sl § -

(A) Tt = (B) we F

(C) w&age ¥ (D) SR ¥

The district from the following hav'mg‘
confluence of three rivers, is -

(A) Banswara

(B) Udaipur

(C) Sirohi

(D) Dungarpur

frafafad & & @& e st 3 =Rt @ g™
BT -

(A) sigamT

(B) wTag

(©) faté

(D) T

8

22

- (D) WK
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'Kural river' is related to which of the
following districts of Rajasthan?

(A) Bundi

(B) Baran

(C) Sikar

(D) Dungarpur

‘PUS T & T Frfned ¥ ¥ TAH &
fra P @ ¥

@A) W

(B) Wi

(©) H=x

World Biodiversity Day is celebrated on.....
(A) 22md March

B) 227 May

(©) 22 April g
(D) 13t August 7 g
o Safafasra fiag I AT ST E
(A) 22 = ‘
B) 22 =
(©) 22 =i
(D) 13 armE

The 'Project Tiger' was launched in the year-
o TET a9 # oo fmar
(A) 1971 B) 1972
(C) 1973 D) 1974

The Golden Quadrilateral in Rajasthan passes
‘through which of the following cities? “
(A) Alwar

(B) Kota

(C) Banswara

(D) Udaipur

TR # @i agds e F § few s ¥
e % 7

(A) @&reeT

(B) @i

(C) dirgarer

(D) zeaygt

|
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Raja Ajmal was the father of which folk God?
(A) Ramdevji

(B) Pabuji

(C) Devnarayanji

(D) Tejaji

T ST g T a3 o 47

(A) TEEEsit

(B) s

(C) TEATEvT

(D) Tt

Molela village located in Rajsamand district
is famous for which folk art?

(A) Terracotta art

(B) Wood art

(C) Textile printing

(D) Handmade paper

T R ¥ Rerr s it o i e 3
ferg fereama ¥ 7

(A) o e

(B) @8 &l

(©) o= BuE .

(D) s @ ) 3
During the reign of which ruler of Jaipur did
Jaipur Painting School make special
progress?

(A) Sawai Jai Singh

(B) Sawai Ishwari Singh

(C) Sawai Ram Singh

(D) Sawai Pratap Singh

ST fera et @ g wky fw s &
&I DI HAT ST & ?

(A) @A wafie

(B) warg gyardiffe

(C) warg TmRiE

(D) §arg waTqRtE

i
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Who was the founder ‘(;f 'Harauti Sewa
Sangh'?

(A) Abhinna Hari

(B) Nainuram Sharma .

(C) Keshari Singh Barhat

(D) Rishigutt Mehta

TR Fa1 g9 BT GEHD B °q17
(A) Lt &t

(B) waqu gt

(C) *eriifE amEs

(D) e Fear

Who was the Political Agent of Mewar at
the time of 1857 Revolt?

(A) Captain Shawers

(B) Major Burton

(C) Captain J. D. Hall

(D) Monk Mason

1857 & f@ie & @9 AaTS &1 WwiHd Teie
B ar?

(A) @ "

(B) T aE

(C) =< @;ir B

(D) di &

Who was the first President of Marwar Kisan
Sabha'?

(A) Baldeo Ram Mirdha

(B) Gulla Ram Chaudhary

(C) Nathuram Mirdha

(D) Mangal Singh Kachhawah

ARATS RN THU BT WT TG B AT?
(A) Seram fyat

. (B) TwW A=l

(©) T Rt
(D) ¥wfkiE HvEr




32 Who ascended the throne of Jaipur after the | 35 When was Sirohi annexed in Rajasthan?
death of Sawai Jai Singh in 1743? - ¥ Rre w9 gon?
(A) Bakht Singh
(B) Ishwari Singh (A) 1952 ;
(C) Madho Singh (B) 1948
D) U'mald Smgh . (©) 1956
1743 ¥ qarg srafie & 9g % aQ TEgL D W fo .
W B ST g ? g (D) 1949
(A) wEE o
B ARt 96 Who was appointed the Prime Minister of
© ) . United Rajasthan (Sanyukta Rajasthan)?
(D) Eis N (A) Balwant Singh Mehta
33 Which Maharana of Mewar made a donation (B) Manik Lal Varma
of four villages to the Dargah of Ajmer? (C) Heeralal Shastri
: 0O s
(A) Maharana Sangram Singh ‘_3 (D) Jai Narayan Vyas'”’
(B) Maharana Jagat Singh II AN . }
(C) Maharana Fateh Singh oy G TR o gereh @ frge o e
(D) Maharana Amar Singh TI g (A) swaiE dear
W%mm%mm%mmﬁ (B) wftrem awt
g ogeH ¥ fw? N
(A) weT gumiE T (©) e e
(B) weRrmn waikie fadE (D) w9 AR A
(C) wWermn waefie <t
®©) :3 37 Shushila and Bhagwati was related to which
d Prajamandal?
34 Name the ruler of Marwar (Jodhpur) who_4, .
was in constant struggle with the Mughals.—H4 (A) Mewar Prajamandal
(A) Maldev Si (B) Jaipur Prajamandal
(&) (U e F (© Marvar Prajamandal
(C) Udai Singh ‘— ] i
D) Jaswant Singh (D) Bikaner Prajamandal
et & Prax gad § Tear =qRar (g F ol of el ot Ty fopg wetrvew & ar?
SIEH BT AH qAE | o N T
(A) wEea o ®)
(B) @=&d ro* 3
(C) scafie H (C) 9RER yemUsH
(D) swafiE g; (D) PR wTvEw
o
% & s

|
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39

40

In which district 'Sheetabadi Tribes Fait'*is
held?

(A) Baran

(B) Bharatpur

(C) Jaipur

(D) Banswara

Hrarard) enfeatiat o den feg R ¥
(A) "

(B) &gl

(©) sEgX

(D) srgarET

?

521011913

Where are Sacchiya Mata temple, S
temple and Harihar temple located?

(A) Chittorgarh
(B) Osian

(C) Abhaneri
(D) Auwa
Hieaar A Ay, g AR, s w@fw @@l
o ¥7?

(A) frieTe
(B) Rt
(C) amur
(D) smsar

a

1210819137

1210119134

'Saheliyon Ki Bari' is located in which city
of Rajasthan?

(A) Udaipur
(B) Jodhpur
(C) Jaisalmer
(D) Bikaner o

i B A T % | et ¥ Raed ?
(A) ST
(B) wiragx
(C) SHaHT
(D) d&ET

ILIEGTLE

2
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"Veer Satsai' of Suryamal Misran deals with
the history of which Rajput state?

(A) Kota

(B) Bharatpur

(C) Bundi

(D) Jhalawar

i fagor (dgo) $a 9R TS HE TS
T & e ¥ FUSR T &7

(A) =

(B) W@

©) 3@

(D) FwEE

'Ghosundi Inscription' was written in which
of the following script?

(A) Armenian (B) Bhabru

(C) Devnagari (D) Brahmi

‘Hrgeel R’ e # & foom fafy & foar
=T ar?

(A) SmfEs
(C) TamTd

(B) W
(D) wmi

From which one of the Harappan sites has
the evidence of a furrowed field found?
(A) Kalibangan

(B) Ropar

(C) Sothi

(D) Nohar

o ¥ § fopE UH 89 WE ¥ Sd gL WA &
ey T 3T €7

(A) T

(B) s

(©) @i

(D) T

Kalibanga is located on the banks of which
river in the Ganganagar district today?

(A) Indus (B) Ahar

(C) Ghaggar (D) Chenab

BTG FEHH TR o § e 7 & @is o
Raa &7
(A) fayg

(C) ==X

(B) aes
(D) ==

B .
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Which of the followir':lg pair is not correctly
matched?

Book Author
(A) Bisaldev Raso — Narpati Nalha
(B) Khuman Raso — Dalpat Vijay
(C) Veli Krishan — Prithviraj
Rukmani ri Rathore
(D) Rao Jaitsi ro Chhand — Shivdas Gadan
fr & ¥ @9 W g TE gAiea T8 8 7
NiSE] EE
(A) drEwRa T — TN e
(B) @A T — TEUq e

(C) A foew saufr & — R W
(D) @ S A BT — R =

Where is the Chandrabhaga Fair held/
organised in Rajasthan in the month of
October-November?

(A) Kama (Bharatpur) g
(B) Mt. Abu

(C) Chittorgarh

(D) Jhalarapatan

TS ¥ TEERT ST SEaATE] 3 &l
it fepar wiar & 7

(A) ®ml (V%Y

(B) vz 3Ty

(C) -fedieTe

(D) AR

47 Pattharmar Holi is famous in which district

of Rajasthan? _

(A) Bhilwara

(B) Beawar

(C) Sawai Madhopur

(D) Barmer

TS % fea e & gt g s &7
(A) siearst

(B) =

(C) e YT

(D) s

A3
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Which one of the following fort is also known
as 'Garh Bithali'?

(A) Achalgarh

(B) Siwana Fort

(C) Taragarh

(D) Mehrangarh .

frg ¥ @ @9 W g T Ao F AW H S
S 2 _

(A) ETE

B) Ramm @

(C) trrTE

(D) FETTE

Who built the Junagarh fort of Bikaner?
(A) Rao Bika

(B) Rao Kalyanmal
(C) Maharaja Rai Singh

(D) Rao Jait Singh

SHHT & SETE fhd & R ﬁb'a?f HIAT ?
(A) @ S

(B) T deamwMd

(C) werreT Tt

(D) TE e

i

Khalsa, Khaki, Naga are a part of which sect
of Rajasthan?

(A) Ramsnehi Sect

(B) Dadu panth

(C) Charandasi Sect

(D) Laldasi Sect

T, @i, A TS % e e &
AT 7

(A) TmEE dyery

(B) = g

(C) wTEH dve™

(D) weerE Hyer

51

52

53

54

232 &

Red Panda has been enlisted in the

(A) Vulnerable Species

(B) Rare Species

(C) Endangered Species

(D) None of these

& UfET & AW el ¥ wftafora e
™ #

(A) g st

(B) gefw wnferl

(C) Ewhera= weiedl
(D) T ¥ BiE T

Which of the following evidences does not
prove the spherical shape of the earth?

(A) Volcanic eruption

(B) Sunrise and sunset

(C) Lunar eclipse

(D) Aerial Photographs .

1 & | 3 |1 9T I B MBI SAH Bl
T TE ebTar 7

(A) SeTETIEl IR

(B) i gd g

(C) - T=I'w

(D) =mdw wier fo

How much percent of the earth's tota.l water
is found in the oceans?

YeAl & H S Bl (b1 W9 HIT HEERRI §
U7 S P
A) 77%
©) 71%

B) 97%
D) 91%

The river Mandakini joins the river Ganga at

(A) Devprayag

(B) Vishnu Prayag
(C) Karna Prayag
(D) Rudra Prayag
T A, W AR F
fra &1 0

(A) TEyam

(B) frwy s

(C) v wEmT

(D) ®g warT

¥ ST

55

56

S

Blossom Shower is associated with -

(A) Kerala (B) Tamil Nadu
(C) Orissa (D) West Bengal
el AR AT e & —

(A) @& (B) dfierrs &
(C) oiifeam & (D) uf¥ew &ma &

Which of the following is a warm oceanic
current?

(A) Gulf stream

(B) Labrador current

(C) Canary current

(D) Falkland current

= % & B & gor gy aw ¥ 7
(A) @E @ g (T )

(B) W= am

(C) AT amy

(D) wiwevE B A

Pick out the incorrect sentence from the

following -

(A) Volcanism includes the movement of
magma onto or toward the earth's
surface and also formation of many
intrusive and extrusive volcanic forms.

(B) Geomorphic processes are the
endogenic and exogenic forces that
bring changes in the configuration of
the surface of the earth.

(C) The endogenic and exogenic element
capable of acquiring and transporting

~ earth materials can be -called a
- geomorphic agent..

(D) Orogeny is a mountain building process
whereas epeirogeny “is continental
building process.

ﬁmﬁfﬁaa ¥ § A I Biied —

(A) SETEET H Y B TS Dbl ST AH &
YAE ¥ W@ AGNH Ud S Sewger
qeash @1 i afeted g1

(B) ¥-STpicieh Withad STisitia e Sfesitia
3 aw o ¥ o gl % e e ¥
9REdd A

(C) ity Td fesitid 9 e i SaeE
TRTET & SAEET U s Bl @war B
¥, oD BD HEAW & |

(D) wdq geiq Frivr bt wishan &, Wi He@w
TG HETEM T i ufear #1




58 Which of the following statements is NOT

59

60

correct in context of the last stage of

demographic transition?

(A) Both fertility and mortality declme
considerably.

(B) The population is either stable Or Erows
slowly.

(C) The population becomes urbanized and
literate. |

(D) The population fails to controls thg
family size.

frefad He § ¥ S G TiBHE TeHI D

S oreRen & HeY ¥ @A T &7

(A) v it Tar A BT FW OB
S

(B) e @ af Rex & o & @ W i ¥
T €

(C) weE T it fft & S €

(D) SEEAT IRER & ST B FEed S 3
FEHA & T &l

Isohels are the lines which connect places of

(A) Sam
(B)

Same mean daily duration of sunshine

Same mean value of cloud cover

(C) Equal amount of rainfall over a given
period of time

(D) Equal temperature

JMEEIET @ 9 T@ el &, 5

WM Bl Asdl &l

(A) wiafes wre g yaret & g9 srEt

(B) &N efEq A=

(C) fau U w9 § FHF a6l @l =B

(D) A q9HH

a

The corresponding scale of the topographical
map - of India, having latitudinal and
longitudinal coverage of 30' x 30, is -

AR & WAGas aHs, e s o
Fgriardg A 30! x 30" 9T EA ¥, I A Y B
(A) 1 :10,00,000

(B) 1 :2,50,000

(C) 1:1,25,000

(D) 1 : 50,000

232 &
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According to WHO which is not included in
basic urban services for a healthy city?

(A) Clean water

(B) Primary Health Care
(C) Cinema hall

(D) Sanitation

fysq w@men §med (WHO) & SIgr T STeY
3 fora st ST Aot F v W wfufed T

4

(A) §® T

(B) wafe @re ¥
(C) ®faTe

(D) @

Which one of the following is not a factor of

Location of Cotton Textile Industry?
(A) Water supply

(B) Humidity

(C) Labour

(D) Urban area

Fraferfias % @ i &1 e 7t gE @ sty
H HH el &7

(A) gt

(B) smsar

©) =m

D) 9=l &=

Education and Medicine fall in whlch
- category of economic activities?

(A) Primary

(B) Secondary

(C) Tertiary

(D) Quarternary

e wer fafeeean enfie fpamen @ fopm St &
ermfa e ¥ 7

(A) wrafs

(B) fadiaa

(C) geis

(D) =gd®

64 As per 2011 census of India, the neighbouring

65

66

country where from second highest number
of migrants (by of place of last residence) in
percentage have immigrated into India, is -
(A) Bangladesh

(B) Pakistan ’

©) Nepal)

(D) Sri Lanka

WG &) ST 2011 %meiﬂ
81 & firda werifus siaid vawd (dreer Frema
WM % g #) wr gt § it g ¥)

(A) sty '

(B) urferear

(C) et

(D) dicier

As per the report of the World Bank 2021,
the country in South Asia having highest
percentage of rural population is -

(A) Sri Lanka

(B) Afghanistan

(C) Nepal:

(D) India

faga % T S 2021 % RO % e,
frfefaa afor oftrag A ¥ ¥ 9% Ao e
T SEE giaea waites ¥ 9% ¥ -

(A) S

(B) arwiTE™

(C) ure

(D) - wr@

coined the term Neodeterminism.
Ratzel

Ellen C. Semple 3
(C) Griffith Taylor '
(D) Vidal de la Blache
A TEfyEaaE 9 @t Afeted feari
(Aa) T g
(B) TweH &. ¥ i
(C) fufteyr <@ i
(D) fa=t@ <t dreemeT

(A)
®)

\

67 Kyoto Protocol is directly linked -

68

69

70

232 & 11

(A) To reduce GHG Emissions

(B) To protect ozone layer

(C) To stop acid rain

(D) To sustainable development
F W gaE 89 ¥ gdfad & -
(A) Arreeg 6 % soe § B A
(B) &M TXd & GX&ET A

(C) o a9t & T &

(D) gaa fawm @

Which airport of Afrlca located on the
Greenwich line?

(A) Accra (B) Dakar

(C) Cape Town (D) Lagos

STHIBT BT B T FAEeTE AHfae @1 9T
Rea ¥ 7

(A)
(C) e

(B) =&KX
(D) wwhE

Which one of the following is not famous
for mica production?

(A) Nellore

(B) Bhilwara

(C) Kalahandi

(D) Hazaribagh

P & & orwe e & R @ a1 a2
(A) @

(B) rearsT i

(C) et e

(D) FACETT

Which one of the following is not responsible
for ozone layer deplet10n‘7

(A) CFC

(B) Halons

(C) Methyl Chloroform

(D) HCI

frafafad % & &9 a1 Uk S| uRa & & %g
KD &l %P 3

(A) druwd. o
(B) g 3

(C) Pramsa e

.(D) RESIERIRCIRS
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72

73

Which one of the following States is a major
producer of zinc?

(& Madhya Pradesh
(B) Gujarat
@ Rajasthan
(P) Karnataka
P & & B T i 1 e S b
(&) T WSt
®) T
(C) T
()] FHHACD
™

The astronomer, who first floated the idea of
expansion of the universe, is

() Edwin Hubble
(g Immanuel Kant
(®) Georges Lemaitre
(D) Chamberlain
wiweTeh, foew same & foan & X F ¥
TEw Wd Wiauniea fedr, € & —
(&) usfa waw
I FIZ
@ St fedet
@) T
o
—
’l“_h;c term geography was first used by

(A) Eratosthenes

(B) Auristotle

@ Hipparchus

@®) Galileo

ﬁlﬂ 91 BT VW VAW femnar
@A) TEwbE A

®) o

(©) framas 3

(D) et 5

232 &
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Which of the following separate Sri Lanka
from India?

(A) Ten Degree Channel

(B) Gulf of Kutch

(C) Gulf of Cambay

(D) Gulf of Mannar

Rriiies & ¥ B9 A AAHT B TG § S
ST B 7

(A) == Reh st

(B) &= & @l

(C) &v@ & EEl

(D) =R @ Wt

Match the following -

i  Planetesimal a Laplace
hypothesis

ii Gaseous b Russel
hypothesié

iii Binary star ¢ Immanuel Kant
hypothesis

iv Nebular d Chamberlin
hypothesis

Pt &1 GAfE R —

i ey ufte a W

i & afEe b W

i fa—amm uf@we ¢ e e

iv e afger d deem

(A) (i-b), (ii-a), (iii-d), (iv-c)
(B) (i-c), (ii-a), (iii-b), (iv-d)
(C) (i-a), (ii-d), (iii-b), (iv-c)
D) (i-d), (ii-c), (iii-b), (iv-a)

76  Which of the following countries is not a,

major centre of Dairy farming l{n the world?

(A) New Zealand ry
(B) Australia =
(C) Denmark )
(D) Japan =l

o & & @ a1 391 faga & Al wiffT @ wge
¥ T ¥ ? & |

£ ‘

(A) getrve — '
(B) ameferan
(C) uh
(D) S e
20
: i
77 Rana Pratap Sagar dam is located in which
district of Rajasthan? =
(A) Udaipur S
(B) Chittorgarh =
(C) Rajsamand N
(D) Kota =~
TN YA WX ST TSR & fhe | §
Rerg 2
(A) IR f
(B) fieTe ™
; ™~
(C) TTEHe &
(D) re =
~
78 IPCC is constituted by - =
(A) World meterological organisation and
the United Nations EnVironment
Programme
(B) United States of America~
(C) Food & Agriculture Organisation
(D) India ;
STTE.ALEA. &1 o Rear T B
(A) fasg wag wrew qaiagag‘ SR vt
CapEa) ana =
(B) #Hgw o smfkar g OV
(C) @ ud FfY wrew g
(D) HIXd &1
232 & 13

79

80

81

82

When was NITI Aayog formed in India?
e o A AT w9 §AwEr T

(A) 2014

(B) 2015

(C) 2016

(D) 2017

Which one of the following is not an example
of one dimensional diagram?

(A) Bar Diagram

(B) Pyramid Diagram

(C) Line Diagram

(D) Unit Square Diagram

1 & & a9 1 us el e &1 e
(A) == am@

(B) faifs s

© Tarsi

(D) T = omtw

What is the full form of GIS?

(A) Geological Information System
(B) Geographical Information System
(C) Geographical Institute of Satellites
(D) Geological Scale of India
T, B AH E -

(A) wite a9

(B) iriieid G o

(C) ¥rifvies T SWrel ¥g

(D) i@ A9 WX B

When contours are very close to each other
then slope will be -

(A) Steep

(B) Slow

(C) Very slow

(D) Curved

T T @ U qEL & AT WE-u &, @
BT B -

(A) d=

(B) #==

(C) T Hg

(D) TshrHR
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84

85

T

Suej canal connects -

(A) Atlantic ocean and Pacific ocean
(B) Mediterranean sea and Red sea
(C) Amezone basin and Rio de jenrio

(D) North America's east coast and west
coast

W oL e & -

(A) SRdifed TEMIR Td WSl He™rX
(B) ¥ §FR T W §X

(C) oM IR w§ TR

(D) STl AR & &1 ud uREE o

Observing Region wise Density of Population

(as per the reports in 2018) in the world, | 87

which of the following regions has second
highest density of Population?

(A) Northern America

(B) Africa

(C) Europe

(D) Latin America and the Caribbean
fava & faft= &= % sae 59d (a9 2018 &
frdrda ¥ orET) a7 S a0 T, FreRed
& W @ W & fEdig waite sHee g
e ¥ 7

(A) ST ST

(B) oTshicHT

©) 7T 88

(D) wfes smfienr e FHifama

On the Fahrenheit thermometer, the boiling
point of water is graduated as -

BIAEIRS AUHM UK UHI &1 F9aHie His
BT T —

(A) 32°F

(B) 87°F

(C) 100°F

(D) 212°F

232 & 14
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86 According to the Human Devel()pmem‘

Report of 2020, the country having highest
Human Development Index (HDI), is -

A) Switzerland
(B) Sweden
© Netherlands
(D) Norway
e Ry wRied 2020'% STFER Fdte qg
fyare gEE® (HDI) a1 391 & —

(A) Ras

(B) ==

(C) Wrxas

D)

The rural settlements extend on both sides

B

of a river near ferry is - 1
(A) Linear . ' *
(B) Y-Shape

(C) T-Shape %
(D) Double Pattern = _ !
& & A () F S Wﬂ%ﬁmm:
H BEd © — i

(A) €a i‘

(B) Y3
(C) T
(D) TET-AHI &1 Gey

Which one of the countries is not a
member of SAFTA?

(A) India

(B) Maldives
(C) Afghanistan
(D) Pakistan : :

e % B a1 2w a1 gew @ 7
(A) wrE

(B) #rrda
(C) srEmireEm
(D) urferer

89

90

91

92

- (D)

- (C) 75%

Which of the following is a branch of
Physical Geography?

i Geomorphology

ii  Hydrosphere

iii  Climatology

iv. Soil Geography

(A) (i), (ii) and (iii) only

(B) (i), (ii) and (iv) only

(C) (i), (iii) and (iv) only

All of these

fpafafaa & & &F @ wifas spia @ g & ?
i yengfd fowm

i SaHs|

i waarg fase

iv T i

(A) Rk (i), (i) o (i)

®) s (i), (ii) R (iv)

(©) fa% (i), (iii) 3 (iv)

@) ¥ & '

How much part of Earth Surface is covered
by the water? ;

Y& & gUAA 1 fha a9 | S| o
g T 7 ‘

(A) 72% B) 782%

(D) 70.8%

Out of the total ocean deeps explored so far;
are deeps located in the Atlantic ocean.

31+l T @ISt T Gl TEERTA Tl H & SHediied

e & T STaRed €|

A) 6 ®B) 19

©) 32 D) 57

The latitudinal extension of India is
(A) 8° 4' North to 38° 7' North
(B) 68° 7' North - 97° 25' North
(C) 68° 7 East - 97° 25' East’
(D) 8° 4' North - 37° 6' North
WA &1 sl faar &

(A) 8° 4 3uY — 38° 7' ST

(B) 68° 7' ¥7X - 97° 25' ¥AX
(C) 68° 7 qd - 97°25' @

(D) 8° 4' I - 37° 6' ITX

232 & | i 15
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94

95

The abbreviation [UCN stands for -
(A) Indian Union for Conserving Nature

(B) International Union for Conservation of
Nature

International Unit for Conserving
Nature

(D) Indian Unit for Conservation of Néture
A HGA. Heharat ¥ o vga
B

(A) 3ftega ghwra BT e =T

©

 (B) TEETHA A BT HEAIH A T

(C) 3IZTIHE M BIT HotreT T4t
(D) 3f=a g Bt dedyH A6 TGT

Find 4he incorrect sentence about the Oyashio
Current from the following -

(A) It flows in the western North Pacific
Ocean ]

(B) Itisa cold_current
(C) It flows down to Kuroshio current
(D) This current is also called Kurill Current

frfofaa & 9 ey 9 & 999 & oy
BT BT —

(A) T= giyEdl ST W9l He™rR ¥ Waied

Bl Bl
(B) I wH & g B
(C) I& FUMNST &R & Ay Waned eiar &1
(D) W FIEA 91T & 99 & W AT ST B

Natural Levees are formed by
(A) River

(B) Glacier

(C) Wind

(D) Sea waves
WD qeas '

(A) T

(B) femmi

(©) waT

(D) W™ T

I faifa ®
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97
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Ankleshwar oil field is located in which
district of Gujarat?

(A) Surat (B) Bharuch

(C) Vadodara (D) Mehsana
SHRSET A 8 oI % fow R ¥ few ¥
(A) §@ (B) wed

(C) == (D) ¥EqH

Which of the following is NOT a Quantitative
Distribution Map?

(A) Choropleth Map

(B) Isopleth Map

(C) Dot Map

(D) Choro-Schematic Map

frafifed & ¥ S T TS HE FEES
T R? .

(A) IUEEN AR

(B) &9°N wHES

(©) fig e

(D) iyt A

Which one of the following States is not
significant in production of cement?

“(A) Andhra Pradesh and Telangana

(B) Rajasthan

(C) Madhya Pradesh 1

(D) Kerala

Frafwiaa Al § § &9 @ 96 Saed ¥
Heaqel el & 7

(A) Sy gaer ST qer

(B) srea™

(C) wem w_wr

(D) &

Mediterranean Agriculture is known for -
(A) Tea production

(B) Rice production

(C) Wheat production

(D) Citrus fruits production

wemETTE FiY fes e s o ¥ 7
(A) =™ IdET

(B) dmEw SdEH

(C) g TR

(D) @ ®al BT SR

232 &
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100 Which one of the following is NOT

101

~ (A) Gandhi Sagar Dam

102

103

: an
atmospheric natural disaster? ]
(A) Drought _

(B) Volcanic Eruptions

(C) Loo |
(D) Tropical Cyclone. _
Pretfifiad & ¥ B AGHEAT THRT oy
SR ;
(GVARC

(B) TR STHT

© T

D) SEEIN

Which one of the following is not built undé;
Chambal multipurpose project? ,

(B) Rana Pratap Sagar Dam
(C) Pong Dam.

Which one of the following States of India
has highest tea production? |
(A) Assam i
(B) Bihar

(C) West Bengal

(D) Tamil Nadu

frefefad & & W & v o A waitus 9@
1 SAGT Bl & 7 .
(A) s@w

(B) faem

(C) ufyem s

(D) dfirerg 3
Bajaj Sagar' Dam is constructed on the river s
(A) Banas (B) Chambal

(C) Mahi (D) Luni

A W STy o 8y g e %2 :
(A) =g (B) waw
(C) "{Tkﬁ (D) -q\:h

104 In Tibet, the river Indus in known as :
(A) Viboa !
(B) Singi Khamban
(C) Sangar
(D) Gomal g
fiig & @1 e # ¥ A F
e ¥ |
(A) faaten 9
(B) R @&
() ¥
(D) M
105 Mahogany is the species of vegetation found
inthe ~ forests.
(A) Tropical Thorn
B) Tropicgil Semi Evergreen
(C) Tropical Evergreen
(D) Tropical Deciduous
TR TR R i ¥ wE
S
(A) 3o BT Hiza
(B) T HicAH E—HIEEX
(C) Tum Hicaei gEEa
(D) 3o feaeim qofumit
106 Where is the Headquarters of Forest Survey
of India?
(A) Dehradun
(B) Shimla
(C) Jorhat
(D) Allahabad
ARG a9 TAET B JEAE BEl & 7
(A) ETgd
(B) fimem
(C) witEe
(D) seTEEE
232 & 17

107

108

109

Older alluvium soils are represented by
soils.

(A) Peaty

(B) Laterite

(C) Red and Yellow

(D) Bhangar

%! S E

(A) dremm

(B) e

(C) v T drefr

(D) arTs

Find out the incorrect statement from the

following -

(A) On a globe, parallels of latitudes appear
as circles.

(B) The distance between two latitudes is
approximately 111 km.

(C) All meridians of longitude appear as
circles running through the poles.

(D) All meridians of latitudes converge at
the poles.

Frfafad & & sE@ S99 Bty —

(A) T I AHY FHAL I b GIH T
T 2

®) @ wwish % 9 B g w111 o
Il 2

(C) AT & T IMIAT I & G Jdid Bl
¥ S gt ¥ T

(D) arEiar & G ArAET gat uX B #

Caroline plate lies - ‘

(A) Between the Asiatic and Pacific plate

(B) Between South America and Pacific
plate

(C) North-east of Australia

(D) Between the Philippian and Indian plate

DI TS TR & —

(A) TR FEEw SR Y3l FEMrRE W &
=

(B) cfqur s@fet o H9Tid FEMEIRIE W & S

(C) wefwar % sav-qd &
(D) Tl 9 feam @ & 5=




110

111

112

232

T T

The Mohorovicic discontinuity lies between |
and layers.

(A) Upper Crust and Lower Crust 2

(B) Lower Crust and Upper Mantle =

(C) Upper Mantle and Lower Mantle 2

(D) Lower Mantle and Upper Core |

Hretaras s Sl (

U & 99 T S e

(A) i & v Fam &=

(B) frawh #= Td ST ¥

(C) Tt ¥ew ue Frawt dew ':J

(D) Praeh dew T STh W ¥

N

Which of the following is NOT an lgnems‘*

rocks? -

(A) Gabbro vil

(B) Volcanic breccia 3

(C) Geyserite ~—

(D) Pegmatite

frafofes % & @9 & am=g 9z@ T8 &7

(A)

(B) aremyEia s i~

(C) T o

(D) Tz -

Which one of the following pairs is NOT @

correct match? —

Country Sting

Cultivation

(A) Indonesia —  Ladang

(B) Mexico —  Milpa ™~

(C) Brazil —  Roca .

(D) Vietnam —  Conuco ;

Frefifa g % @ @ & w5 w8 it —

T §? -
Al T 3 —

(A) ZemfEmr - W :_4

(B) Aferant — e

(C) i - @

(D) faaaam - aE

& 18
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- 114

115

Which port is located on northermn end
Panama canal?

(A) Suez

(B) Said

(C) Colon

(D) Panama

T e % IO B W BN 6 =
fa ¥?

(A) &

(B) &

(© @

(D) WA

are the largest of all the volcanoes
on the earth.

(Aa)
(B)
©
(D) Cinder cones volcanoes
9= W §ed faume S %l
(A) Rt =g

(B) &=U TGl

(C) i e

(D) feT §ig wawmg

Composite volcanoes
Caldera volcanoes
Shield volcanoes

is the layer in the atmosphere
which makes radio communications possible
on the earth.

(A) Stratosphere
(B) Mesosphere
(C) Thermosphere
(D) Ionosphere

AYIEH B U, ﬁiﬂ%mq&hwiﬂﬂ’r
qA wE ¥, 9p

(A) @9am Aueq
(B) = mveq
(C) @™ mvew
(D) @ Aueq

[ e T T T T T e T e——

116

117

118

119

32 &

Livestock ranching is an example of -
(A) Primary occupation
(B) Secondary occupation
(C) Tertiary occupation
(D) Quarternary occupation
QYU U IAET &

(A) wrafte =™ @t

(B) faivus’ sxeam @

(C) Fiwas =@ &

(D) 9g¥% =HEEE H

[

011813

When was the Desert Development
Programme started in India? oN
" ¥ we frew aeiwe we ge Rear mar?d
(A) 1977-78
(B) 1987-88
(C) 1997-98
(D) 1991-92°

[

Brundtland Report is related to -
(A) Human Development

(B) Economic Development
(C) Sustainable Development
(D) Agriculture Development
sede Ras Rred e 37

(A) wa fr '

(B) enfe feema

(C) = frrg

(D) Ffy faem

1210119137

Which city of Rajasthan is famous for
'Ajrak Print'?

(A) Barmer

(B) Ajmer

(C) Sanganer

(D) Bhilwara

TSI & HF T 6T ‘IR e’ &
g ¥ 7

(A) ar=EY

(B) emmy

(C) WY

(D) freramst

121019137

1210119137

f1p

120

121

122

Which of the following groups of Iron-steel
plants was established in India after
Independence?

(A) Jamshedpur - Bhilai

(B) Bokaro - Jamshedpur

(C) Bhilai - Rourkela

(D) Visvesvaraya - Durgapur

T § AE-g@e dre@E & rEtatad et §
Y frge @ @ & aE B g 2

(A) vmdrgT — frag

(B) @@t — sEdEgT

(C) Themg — T=Thar

(D) fagdgatar - gige

What is the name of world's longest railway?
(A) Canadian pacific railways

(B) Trans-Siberian railways

(C) Northern trans continental railways
(D) Middle trans continental railways
fasa % waifas @ Towrt & a9 =0 §7?
(A) Ffsa dfafes Tammt

(B) zE—uEAfET W

(C) T sivEEME e

(D) 7= WA TEHrt

Cape Town Port is located in -
(A) Africa

(B) North America

(C) South America

(D) Asia

PHILEA qTME FaARAT & —

(A) wrr §

123

(B) wall smiftar ®
(C) =R s@ifar ¥
(D) ufwn %

Which one of the following energy resources
is renewable in nature?

(A) Wind (B) Petrol

(C) Coal (D) Diesel

Frafwied Sl st ¥ § B 9 U 6
Wi &1 & 2

(A) == (B) Wi

(C) @Ewm D) =W




124 Who gave the term 'Biodiversity hotspots'? ‘

(A) Norman Mayer
(B) Huxley
(C) William Cunnigham
(D) Tansley
e fafqea & wWie' e e &7
(A) v HET
(B) xR
(C) fufermm =i
(D) =
125 Which one of the following is not true in
context of India-Pak Border? -
(A) Itis a superimposed boundary.
(B) It is an artificial boundary.
(C) It's name.is Redcliffe line.
(D) It is a natural boundary by desert region.
= ¥ ¥ B W s Sy w3
3T & ? :
(A) T® us sr=mifG S &)
(B) uE wh i dmn ¥
(C) zHa M EhFw ar t
(D) W& THEIN W BN Ua WighE ST B
126 The Directorate of Air Survey, Survey of
India, is located at
(A) Hyderabad
(B) Kolkata
(C) New Delhi
(D) Bengaluru
Y FeT Freened, W & |
¥ feorg #
(A) FTEE
(B) wIetebrar
(©) == fwlt
(D) dTge

What would be the time in Delhi, if the time
at Prime Meridian is 8.30 a.m.?

I Y@ A U §9G W 8wt 30 fie
7, 38 T fieeh ¥ gwg w®n e

127

(A) 1.30 p.m. (B) 2.00 p.m. (A) ———
(©) 230 pm. (D) 3.00 pm, et g :f
232 & 7

128 The World Conference on Disaster
Management in May 1994 was held at -
(A) Yokohama, Japan
(B) Rio de Janeiro, Brazil
(C) Copenhagen, Denmark
(D) Johannesburg, South Africa
% 1994 ¥ y7aar weEH X fava gt
¥ st g
(A) TrerEmT, STUH
B) = & T, s
(C) =, Sh
(D) Sieas, T STt

129 In context of Remote Sensing, meaning of
the term Reflectance is -
(A) The ratio of the radiant energy reflected
by a substance to the energy it receives.
(B) The energy propagated through a space
or a medium at a speed of light.
(C) The ratio of the radiant energy absorbed
by a substance to the energy it receives.
(D) The ground area covered by an image
or a photograph.
T3 T TSI b g ¥ Wadedr 9%
g & -
(A) T8 werd 2w @ T et aur se%
M UREfdd S &1 e |
(B) Wt &t 1fei & Tt a1 el fegeerm oreran
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130 The House of Eskimos, made up of wooden
and bones of whale fish, is called as -
(A) Igloo (B) Karmak
(©) Ikra (D) Werf
R T W T @ e ) shedr @

s

131 Which of the following is not a phase of
denudation process?
(A) Weathering
(B) Erosion
(C) Precipitation
(D) Deposition
fra & & @ U orTesTEA wiedr @ T
Ty
(A) ey .
(B) omtEd
(€) =im
(D) g

132 Which of the following topographies is not
,made by volcanism?

(A) Meander B) Sil

(C) Dyke | (D) Stock .
R & A 2, Q) e fiftfa i T8 ¥ 2
“(A) st B) @ -

(C) =% (D) ==

. 133 The highest road density is found in .

(A) Europe :

(B). North America

(C) Africa

(D) Australia
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134 The name of the New York International -

Air Port is

(A) King Shaka

(B) John F. Kennedy

(C) Kempegowda

(D) Changi .
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135 As per the area, India is the largest
country in the world.
(A) Sixth (B) Seventh
(C) Eighth (D) Ninth
e B g & W faeE e
72T 2 T .
(A) war (B) Har
(©) aeat (D) it

136 Maximum Insolation is received over the

(&) Equator .
(B) Subtropical region
(C) Sub Polar region
(D) Poles

Fftaw gatad a1 Ji
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137 The Doldrum belt is found in -
(A) Polar region
(B) Arctic circle
(C) Equatorial region
Temperate region
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138 Who gave the Least Cost Location theory of
Industrial location?
(A) Alfred Weber
(B) W. Christaller
(C) A. Losch .
(D) Walter Isard : : :
e SrERaRY B =T TR ARt R
fore T ? :
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The air temperature at the tropopause is about
over the equator.

fagaq g9 & FOX &w @ & w1 F aeEE

B T
(A) —100°C (B) —80°C
(C) —50°C (D) —45°C

Which of the following is NOT a basic

feature of contour lines?

(A) Contour lines and their shapes represent

the height and slope of the landform.

Widely spaced and less dense contours

represent steep slope features.

When two or more contour lines merge

with each other, they represent features

of vertical slopes.

(D) Two contours of different elevation
usually do not cross each other.
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According to Koeppen, the climatic
characteristics "No dry season, warm and cool
summer" referred to type of climate.
(A) Humid subtropical

(B) Mediterranean

(C) Marine west coast

(D) Humid continental

B & STIEN, “BE Y% Fg AE, FOT q4T
ot Hre"” SerarEE @E EREID|
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142 NASA's first satellite instrument, specifically

143

144

| ey Sy Y - T SRR ) e B i T ol DI

built to study salinity of ocean surface waters,
IS =

(A) Astrosat

(B) Microsat-R

(C) Orion

(D) Aquarius

T @ UEW SUUE UGS, S R § ¥ R
2 TaE H T B T BT HEATT B % Y
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(A) TREE

(B) WEhIdE—MT

(C) shfkas

(D) THEREE

Which of the following is a type of Large-
scale Maps?

(A) Topographical maps

(B) Wall Maps

(C) Atlas Maps

(D) None of these .

f=tfeifaa % & @ |1 ged A AR B T

Y& &7
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The factor which affects the value of Solar

constant is - ' -

(A) Horizontal distance from the equator
(B) Terrestrial winds

(C) Ocean currents

(D) None of these

aﬂ'@%s, St €@ Rerties W @y @ B,
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Which type of rural settlement found on
mountain slopes?

(A) Clustered

(B) Dispersed

(C) Hamleted

(D) Fragmented

il @l 9T BE d Yh & A SfErd
e &2

(A) T=q

(B) fat=t

(C) st

(D) argEE

Extremely severe cyclonic storm Tauktae
affected which Indian State the most?

(A) Gujarat ="

(B) West Bengal

(C) Tamil Nadu

(D) Odisha

et dear AW GhdE QEE qed | eE
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(A) T

(B) ufymst S

(C) dftrerg

(D) sifsam

Srinagar, the capital city of the union territory
of Jammu and Kashmir is located on the
banks of river

(A) Beas

(B) Chenab

(C) Jhelum

(D) Ravi
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Loktak lake is located in which State of
India?

(A) Mizoram

(B) Manipur

(C) Meghalaya

(D) Kerala

AHeE e A F Y Tog ¥ orarad &7
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Find out the correct statement from the

following -

(A) In a Cyclone of the northern

hemisphere, the pattern of wind

direction remains anticlockwise.

In an anticyclone of the southern

hemisphere, the pattern of wind

direction remains clockwise.

(C) The Coriolis force acts parallel to the
pressure gradient force.

(D) The pressure gradient force is parallel
to an isobar.
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The Tropical Cyclones in the Western
Australia are called as

(A) Willy-willies

(B) Hurricanes

(C) Typhoons

(D) None of these
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